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2. For f(x)=x%-1and g(x) =+/2x—6, determine the following composite functions, simplify
them, and state their domains:

a. 5pts) (fog)(x)

b. (5 pts) (go f)(x)

3. (5 pts) What is the domain of g(x) = In(2x—6)?

(x+5)

W ? (This is like a Chapter 3 question!)
X— X —

4. (5 pts) What is the domain of
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Now you don'tHAVE to graphit, to discernits sign pattern(positive/negative).You canalsojust useates
valuein eachinterval,for instanceplugin x = 0 to testthe signin theinterval (- 2, 2). (0)"2-4=-4
is all you needto knowthatit's < 0 between2 and+ 2. That'sthe- - - - signsin the signpattern,above.
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Now you don't HAVE to graph it, to discern its sign pattern (positive/negative).  You can also just use a test
value in each interval, for instance, plug in x = 0 to test the sign in the interval (- 2, 2).  (0)^2 - 4 = - 4
is all you need to know that it's < 0 between -2 and + 2.  That's the - - - - signs in the sign pattern, above.
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